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. What is the advantage of compound pendulum over simple pendulum ?

Simple pendulum is an ideal pendulum because it needs a point mass sus-
pended by weightless string which makes it ideal, whereas there is no such
condition for compound pendulum and hence errors involving in measurement
of (g) with the pendulum reduces.
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Why bar pendulum becomes incapable to oscillate when it is suspended at
10th hole ?

Since T = 21 ifl=0,thenT=w ie.,

If compound pendulum s suspended at C.G., time period becomes infinite. Since
barpendulum is a bar having length l m and contain 19 holes, each separated by
5 cm to next. At 10th hole, C.G. of bar lies and time period becomes infinite.
How will you get radius of gyration of bar ?

Considering T v/s L graph and locate the point on L-axis. Corresponding to which
it is minimum. Distance of this point from-axis from C.G. gives the value of K.

Why time period at point S is name by same time period at point O and
same for §' and O’ ?

Because point of suspension and point of oscillation are interchangeable. S is
point of suspension and O is point of oscillation and same for S’ as well as O'.

In cricket game a batsman feels shock at his hand if ball could not strike at
a particular point while batting ?

‘When we hold a cricket bat in our hands, the hands serve as an axis about which
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it is minimum. Distance of this point from-axis from C.G. gives the value of K.
Why time period at point S is name by same time period at point O and
same for §' and 0’ ?

Because point of suspension and point of oscillation are interchangeable. S is
point of suspension and O is point of oscillation and same for S’ as well as O'.
In cricket game a batsman feels shock at his hand if ball could not strike at
a particular point while batting ?

When we hold a cricket bat in our hands, the hands serve as an axis about which
the bat can rotate. The centre of gravity 1s somewhere in the middle. Now taking
the position of hands as the centre of suspension, there exists the corresponding
centre of oscillation on the other side of the centre of gravity. If cricket ball strikes
the bat at the centre of oscillation which will now be called centre of percussion,
the bat simply rotates and there is no shock felt in the hands of the batsman.
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